— oy L 433 -

SR REXNFELFRBRFIERS
100m F:&

148 E®E (-0.4)

L—> Fon— K % Fr =2 A L [[=Civa
1
2 3236 R HE ERK-2- L5 11 # b5 3
3 3447 JRE & ERX -4 dtEE DNS
4 3437 FH %D EERX -3 - #HK 11 %50 2
5 2513 aH % team R - - FEEEE 12 7 31 5
6
7 3459 WH ERK-3-&EE 11 7 36 1
8 4201 FR E&fT EEX-1-E®EX 11 %92 4

248 A& (-0.8)

L—> FUnN— K % B & 2A L [[=Civa
1
2 3210 g A EREX -2 #HK 11 % 88 5
3 3426 HEH Et ERX -4 L5 11 % 64 4
4 3446 BEE X& ERX -3 E®ER 117 1
5 3407 hik EE ERX -4 FE &4 2
6 3408 AT ERX -3 - BiF DNF
7 3423 BEAOA ERK -4 \#wF)l 12714 6
8 3390 *F =f ERX -3 FE 11 # b1 3

348 mAE (-0.4)

L—> FUnN— K 4 BT = A L =i
1
2 3449 Bl 3&BA ERX -4 FE DNS
3 4194 HE [z ERX -1 -E®ER 11 % 66 4
4 3371 BrIER  BAEE EERKX -3 K 11 % 06 1
5 3251 KE X ERX -2 dtEE 11 % 54 3
6 3441 BE M ERK-4-5E 11 7 31 2
7 3430 TE K ERX -4 FE DSQ
8 4233 =HHE MR ERX -3 FE 13 ¥ 07 )
100mA RS

EB®E (-1.4)

L—> FUnR— K % A = A L JEAL
1 3390 ®F = ERHK -3 FE 11 7 b1 7
2 3407 hik EB ERX -4 FE 11 % 38 4




3 3441 BE M ERX-4-5FE 11744 5
4 3371 BrIER  BAEE EREX -3 #HK 11 % 04 1
5 3446 N ERK -3 "R 11 # 20 2
6 3459 /N =S EHRX -3 EE 11 7 31 3
7 3437 FH %t ERX -3 #HK DNS

8 3251 HKE X ERX -2 tEE 11 7 47 6
100mB SR i

EE (-2.1)

L—> FUnN— K 4 AT =2 A L JEAL
1 4233 =HH MR ERX -3 FE 13 % 09 7
2 4201 &R &7 ERX -1 E®R 11 %95 5
3 4194 HE Fz ERK -1 -HR 11 % 68 3
4 3236 PR HE ERX -2 L5 11 % 52 1
5 3426 KA Et ERX -4 KB 11 # 57 2
6 3210 ngE A EEX -2 #HK 11 % 80 4
7 3423 EA A ERX -4 @R 12 ¥ 23 6
8
100m SR fE¢

EaE (-0.1)

L—> FUnN— K % BT I 2A L IEAZ
1
2
3
4 2513 =H - team =2 - - BIEEEE 12 ¥ 34 1
5
6
7
8
200m1 &

148 B# (+1.5)

L—>  FUnN— K % B I A L JEAL
1
2 3228 #Il K& ERX -2 - X 23 ¥ b8 6
3 4194 HE Fz EEX 1B R 23 # 30 4
4 3371 PRIEB  BAEE ERX -3 - #HK 22 ¥ 20 1
5 3459 MAH ERX -3 E&E 22 ¥ 82 2



6 3426 KA Et ERX -4 KB 22 ¥ 98 3
7 3197 =H BN ERXX-3-&F 23 7 48 )
8
200m2 Xk
& (-2.5)

L—> FUnR— K 4 AT /=3 BA L JEAL
1
2
3 3426 KA Et EXX -4 KB 23712 2
4 3371 BrIEB  BAEE EHEX -3 #HK 22 7 44 1
5 4194 FE gz ERK-1-E’R 23 ¥ b8 3
6 3197 =H BN ERK-3-&F 24 715 4
7
8
400m1 2R

L—> FunN— K 4 AT =2 A L AL
1
2 3198 =HH #3A ERX-3- K% 50 # 94 4
3 3214 B HE ERKX-2-5FE 50 # 76 3
4 3421 R fih EHRX -3 L3 49 F 51 2
5 4223 #E OBE ERX-1-F%E DNS
6 4199 INE BEN ERX -1 - R% 49 7 30 1
7 3233 FER =X ERXX-2- K% DNS
8
400m2 R

L—> FUnN— K % B I 2A L JEAZ
1
2
3
4 3421 EE fhth ERX -3 W3 DNS
5 4199 INE BEMN ERX-1- RE 49 ¥ 26 1
6 3198 HH #®5A ERXX-3-RH 50 # 32 2
7
8



800m & A L L — R R

148
L—> FUnR— K % B = A L =i
1
2 3198 =HH  #3A ERXX -3 K% 2 4> 00 #» 89 6
3 3224 B It ERX-2-BHE 14356 F 2 2
4 3226 fE<” KR BhsE ERK-2- F%E 155717 3
5 3215 A BE EERX -2 - &K 143 54 5 60 1
6 3366 ME BEA ERK-3- FE 15359 # 1 4
7 4199 INE RENY EXX-1- K% 4> 00 # 35 5
8 4209 FE  fith ERX-1- RE 253 10% 72 7
800m & o L L — R SR
248
L—> FUnR— K 4 AT = BA L JEAL
1
2 5056 @i R ERX -1 FE 29317801 6
3 4198 NI KEH ERK-1-#5 4> 07 # 03 2
4 3203 Bk R— ERX -4 FE 14359 # 53 1
5 3433 FE R ERX -4 %& 2 453 09 7 66 4
6 3450 BH #HE ERX-3-HE 2 43 09 # 60 3
7 4219 FA BEZ ERX -1 58 243 13% 04 5
8
800m X A4 LL—RA R #HR
FR— K 4 AT = B A L JEAL
3215 AN BE ERX -2 - X 14354 % 60 1
3224 B It ERK-2-B5E 143 66 27 2
3226 EL2KR BASE ERX -2 FE 155717 3
3366 ME BA EHEX -3 FE 1459 %19 4
3203 ik R— ERX -4 FE 14359 # 53 5
4199 INE BEN ERXX-1- K% 2 4y 00 # 35 6
3198 B E2IN ERX -3 REF 2 4> 00 # 89 7
4198 INI K8 ERK-1-#5 245y 07 # 03 8




1500m 2R B

L—> FUnR— K % B = A L (=R
1 3366 ME BEA ERK-3- FE 4 43 09 ¥ 83 5
2 3433 FE #FE ERX -4 %8 4 43 03 38 2
3 5056 Bma R ERX -1 FE 453 23 7 23 11
4 3248 ik EA ERX -2 FE 445526 7 70 13
b5 4236 EHR B ERXX-1-L5 DNS
6 3398 25 B# EERK -4 - Hid 44523799 12
7 3450 BH HE ERXX-3-FHE 4453137 50 7
8 3428 A Ei ERK-3- FTE 4 43 45 ¥ 48 15
9 4215 EH 22— ERK -1 &Kl DNS
10 3455 wA AE EERX -4 - 8 45316 7 66 9
1 4219 R Rz ERX 138 445197 35 10
12 4209 B it ERXX-1- K% 44341 7 85 14
13 3385 KIS A ERK-3-&HE 4 53 07 # 53 4
14 3415 xR KiE EHX -3 WA DNS
15 3224 B Inth ERK-2-B5E 45313723 6
16 3226 fEcAK BhsE ERK -2 FE 4 43 07 7 04 3
17 3215 AN BE ERX -2 XkH 44502 71 1
18 3203 HikE R— ERKA -4 FE 4414 %88 8
5000m 3R

L—> FUnR— K 4 AT = A L IEAL
1 3415 xR KiE ERAX-3-WLA DNS
2 3433 FE #RE ERX -4 %8 164> 35 # 13 1
3 3450 BH HE ERX-3-HE 16 4 24 7 85 6
4 3455 EA AE EEHEX -4 - X 16 4> 17 # 01 5
b5 4236 B ERX 145 DNS
6 4219 hR Rz ERX 138 16 > 49 # 95 8
7 3385 KIS H EEXX-3-FHE 17 43 00 # 16 10
8 5056 @A " ERK-1-FE 16 43 13 # 02 4
9 4228 BA AR EREX -1 - #HK DNS
10 4198 NI KEH ERX-1-#5 16 43 60 F 60 3
1" 3398 25 B8 EERK -4 - 8 17 5> 26 # 01 11
12 3461 =E O ERX -3 REF 16 43 27 7 97 7
13 3248 sy &g ERK-2- T DNS
14 3393 RPN ERX -4 L5 16 43 45 7 95 2
15 3460 £ FE_H ERX -3 -E®ER 16 43 57 b 21 9




110mH 7 :2E

148 BE (-2.2)
L—> FUnR— K £ A = A L =i
1
2
3 3432 FE F ERX -3 #HK 15 # 99 3
4 3463 E—tEX ZF ERX -3 Kk DNS
5 3411 TE AKX ERX -3 FE 14 % 70 1
6 3390 ¥ =R ERX-3- T 15 # 69 2
7 3222 B B ERX -2 FE 16 # 35 4
8
248 E#® (-0.1)
L—> FUnR— K 4 AT = BA L JEAL
1
2
3 3399 INR B ERX -4 - %W 15 % 86 5
4 4211 4 1EX ERK -1 8% 15 % b5 4
5 3384 /NIT BABA ERX -3 A 14 ¥ 82 2
6 4205 MR 8K ERX-1-E®ER 14 % 69 1
7 3382 AR EX EERX -3 - tEE 15 % 23 3
8
110mH SR
E#® (-0.1)
L—y Fun— K % A = BA L [[ERiva
1 3399 NR EE EERX -4 - & 15 % 68 8
2 4211 4 X ERX-1-8BE 15 ¥ 49 6
3 3384 /NI 5ABR ERKX-3- Al 14 7 b8 1
4 3411 TE AKX ERX -3 FE 14 ¥ 68 2
5 4205 NN X ERX -1 -E®ER 14 7 86 3
6 3382 NN ERX -3 tEE 14 ¥ 97 4
7 3390 ¥®F = ERX -3 FE 15 % 45 )
8 3432 FE F EERKX -3 K 15 # 67 7
400mH 3R B
L—> FunN— KE 4 AT =2 2A L JEAL




3 4208 INFR [ ERX-1- B 56 50 2
4 4216 Hd #ifE S N - = b5 Fb 36 1
5 4214 Eik hE ERX -1 - @& 58 7 68 4
6 4222 A FOBA EEX -1 - & 59 # 05 5
7 4213 EaRAK Etb ERX -1 H 56 # 85 3
8
3000mSC kB
L—> Fn— K % Fr = A L gz
1 338b KIS & ERK-3-&HE 9555704 4
2 3450 B HE ERXX-3-BE 9947748 2
3 3461 BE X ERX -3 RF 10 43 20 > b4 6
4 3393 Y NEEENGI ERK -4 L5 94> 34 84 1
5 4198 NI K EEX -1 #5 9 4> 55 # 99 5
6 4218 R —H ERX -1 FE DNS
7 3460 £ ETH EHRK -3 HR 10 4> 45 Fb b6 7
8 3433 FE K& ERX -4 %E 949> 50 7 76 3
4 X 100mR
F— L% EIE L% B 45z
EHRKX445B Hf A= INR BH EAN AE TEB kfF 47 § 45 8
EHRK3IEB MR iEH Fa NI =L =HH #5A TH M 44 99 7
EHRK24A Bk == F REE R RE KiE X 43 7 30 4
ERK14£B AT AO8A INFR B AR EFR A #ifE 43 § 57 5
EHRKX4EA B R EH Et £k EWR BE Mt 43 # 25 3
ERK3IEA EE AH BEE K& BrIEB  BAEE 41 7 52 1
ERKX1TEA 'R &7 MR AKX HLE Fz INE FEN 43 F 25 2
EHRK248B g A& Il K& INE 8 B5E  Imth 44 5 74 6
4 %< 400mR
F— L% EIE EY 23 B 45z
ERX 44 BE ER HE HE R TE kfF 34329 7 92 7
EHRK24B INE 18 nEE A RR E E& K BASE 34> 32 % 45 8
EHRKXTEA FLE Fz A #ifE INFR [ INE BN 323717 4
=N F S —8B BHE #A A 8% Al BFE 34313 F 92 1
EHRKX3FA EE WAH ME BEA PRIEB  BAEE 3421 718 3
EHKX 348 =H BN =H  #iA A B MR A 352720 6
EHKX2FA B EE EE It W RSE AW BE 34> 21 % 00 2
ERK1EB &A BfT ErKR ZEth Ek hE P4 F08A 34267 98 5




FonN—| K% riE 1Tm801 M85 m90|Tm95| 2m00 2mO5| &% |IBHL
X
=H R _
4234 " ERK -1 - 5B X Tm80 | 4
X
O | 0O | x
X&E # _
3457 . ERX -4 hiE X Tm90 | 2
X
N — O | X
E 5 .
3389 % EEX -3 - #FE)l X Tm90 | 1
) X
X X
= . N
3070 " EEHKXAC- T @) X Tm85 | 3
X
Fon—| K% i@ Tm351 M40 m441m46| &k |IEfL
- O] O | X
=H 2
2513 team 7 - - BREEREE X [ 1md4 | 1
X
i@ 3m40 | 3mb0 | 3m60 | 3m70 | 3m80 | 3mM90 | 4m00 | 4m10 | 4m20 | 4m30 | 4m40 | 4m60
X X X
4 ERX-1-&E O O O X
X
O — X X X
] EEX -3 FE O O X
X
— — — — — — — — — — X X
EEX -2 - fAH O X
X
X X O X
| ERKA T RN x X
O X
ENEBK
FonNn—| K % A JE 1 2 3 4 5 6 SC8% [[=Cva




N 4m83 5m21 5m26 5m23 5m42 5m62 5m62
2513 | EE R— |team B - - BEkEE 7
+0. 4 -0.3 +0.0 +2.8 +0. 1 +1.2 +1.2
. ~ DNS
3437 RHEH %t EERX -3 HA
. _ 6m17 6m29 o6m27 6m13 F F 6m29
3436 HiE FOA ERX-4-#5 5
-1.6 +1.7 -0.3 -0.6 +1.7
B DNS
3396 |ABRH EX ERX -3 RE
. . DNS
3378 S5 EF ESjw NI/ N =
~ 6m25 6m18 F 5mb1 6mo4 F 6m25
4232 HFNI A | BRX -1 - #mF) 6
+1.6 +1.3 +0.6 +1.5 +1.6
_ 6m30 6m23 6ma4 5m75 6mb2 F 6mb2
3227 ¥E & ERXXK-2-%&5E 3
-0.6 +0. 1 +1.7 +0.9 +0. 6 +0. 6
_ F F F F om44 om44 6ma4
4237 B R ERX-1-#5 4
+0. 3 +0.7 +0. 3
_ . 6m7/2 F F 6m66 6m81 6m76 6m81
246 | =& B | ERKX-2-dt#EaE 1
+2.5 +0.2 +0.7 +2.3 +0.7
_ 6m81 F — 6m65 6m81 6m/6 6m81
3457 | X&E FIE | EHRK -4 HiE 2
+1.1 +0.2 +0.7 +2.3 +0.7
R B . DNS
3211 &£F X ERX -2 - dtimaE
= BBk
FonNn—| K £, B B 1 2 3 4 5 6 SoEk =LA
13m93 13mb8 F 13m22 F 14m15 14m15
3430 | xB kfE| BEERK-4- FE 1
+2.8 +2.2 +1.9 +0.7 +0.7
) . ~ 12m98 F 13m12 12m33 12m87 12m92 13m12
3369 x=H = ERXK -3 @z 3
+2.7 +3.5 +0. 2 +2.0 +1. 1 +3.5
_ DNS
3457 XE FIH EEHX -4 - 48
) F F — 13m87 F 13m83 13m87
FEE FE K| HERER - SR 2
+2.0 +2. 8 +2.0
At
FN— K £ AT B 1 2 3 4 5 6 Haximd =LA
3225 kE BR ERAK-2 FE | 12m98 13m14 13m04 X X X 13m14 5
4230 FE X ERXK- -1 FE 12m89 13m03 13m36 13m02 13m17 X 13m36 4
3212 $H A ERA -2 K X 12m69 12m71 12m83 X X 12m83 6
3216 A Kb EERK -2 K | 13mdl X X X X X 13m41 3
3256 =k ¥ EEHX -M2 - MK | 14m12 X 14m12 14m71 14m41 14m77 14m77 2




| 8381 | XAk st | EEA-3-FE | w5 | 14090 | 14m77 | 15m33 | x| x| 15m33 | 1 |

P

FN— K £ Fr == 1 2 3 4 5 6 o | Bz
4221 FIS w=E ERK-1-5E DNS
3218 Bk 5 ERX -2 FE O O X 30m25 11
3431 BH s ERX -3 EE X O © 30m29 10
3377 FE Bt EERX -4 A X O X 28m30 12
3416 MR IEH ERX-3-87E% @) O X 33m38 9
3391 JUAE EEHX -3 - &K DNS
4217 B #%wE&E ERX -1 FE @) O © X X O 35m63 8
3230 MH Ei ERX -2 38 @) © © © X © 38m20 6
4195 248 FA ERX-1-#5 O © O O X X 37m20 7
3237 AKX &KX ERXX-2-8BE% @) O X © @) © 38m92 5
3381 AR #ith | BERK-3- FE X O © O O X 41m69 | 3
3202 Bl 2N | BRX-3-®'ER O X X X O X 41m99 2
3458 ETEH 18 ERX -4 #5 X O X X @) © 44m72 1
4212 A ES v N I 3771 O © X © © O 41m09 4

NIT—8

F o N— K % i = 1 2 3 4 5 6 ek | Bz
3400 NG FRtb EEX -3 -E®EX X O X 39m49 14
3401 FE KEE | ERX -3 - &R O © O 40m84 | 12
4229 W% FIEA ERX-1-FE @) X X 39m70 13
3219 MBI "L | BRXK -2 - S @) O O 45m4? 11
3254 s KT ERX 238 O © © X O X 49m79 6
3434 B BE EERX -4 - &K @) © © 47m83 10
3252 Br ZFXE | BERK -2 B R O O © 49m23 | 9
3387 BE W EEX-3-FHE @) X O O O X 49m79 7
3225 BE BR ERX -2 FE O O O X © O 50m93 5
3243 I #E EERX -2 Fin O © O O © @) 53m79 4
4221 TS w= EEX-1-HE X O X X X X 49m59 8
3420 BA BE | BERX-3-HE O © O O © X 54m34 | 3
3442 HFp F— EEX -3 #HK X O X O O X 56m20 2
3258 HE HE | ERKX M2 - 38 O O O O © © 59m32 1
3256 =k O EEHX - M2 - #HK DNS

P YE



F o N— K % AT B 1 2 3 4 5 6 oEk | B
3431 BBH Tt ERX -3 EE X O © O @) © 51m36 4
3377 PR Bt | BERX-4-FH O X X O © O 51m64 | 3
3441 BE M ERXX-4-8BE% X O © X © O 40m61 7
3232 A #Hit | BERX-2- BE O © O O O © 46m90 | 6
3235 S il EEX-2-BE @) O O X X X 50m67 5
3218 Bk 5 ERX -2 FE DNS
3208 HE JEC ERK-2-5E X @ © X X 59m97 1
4207 Bxk B¥ EREX -1 - #HK X O O O 52m86 2

+&EHE 18H
K % 100m | EfERk | fEt#® E =Bk 400m |1 BE®/R|1 BEIBELL
3456 11. 59 6. 69 10. 60 NM 51. 36
BIE -1.9 +1.7 2750 1
EXKXK-4- =8 734 741 522 0 753
4192 DNS
FRIER MK DNS
ERA -1 FE
+EHE 28H
K 4 110mH | P BE Bk v Y 1500m |2 HEERA| BER | BEIEA
3456 14.96 | 33.67 4.20 48.03 | 4.52.61
BIE R +0. 4 3226 5976 1
ERKX-4-=Z8 854 537 673 569 603
4192 DNS DNS DNS DNS DNS
BrIEB  HEK DNS
ERX-1-FE
ZF
100m %2
148 EE (-0.2)
L—> FunN— K 4 AT & B A L JEAZ
1
2
3 7301 AR MEE ERK -1 FE 14 7 25 4
4 6993 BAR ER EEX 285 12 ¥ 94 2
5 6984 TH »is ERK -4 \#wF)l 12 7 86 1
6 7300 =E E EHRX -1 - fH 13 % 24 3
7




100m 3% (EE))

E&E (-0.3)

L—> FUnN— K % BT I 2A L IEAZ
1
2
3 7300 =E mE ERKX -1 - TH 13 % 26 3
4 6984 TH s EEX -4 @) 12 ¥ 89 1
5 6993 B ER ERX-2- @8 13 % 09 2
6 7301 NA fEE EEX -1 FE 14 ¥ 56 4
7
8
200m 3R

EE (+0. 1)

L—> Fon— K % i =2 A L JEAL
1
2
3 7301 NS fEE EREX -1 FE 29 69 5
4 6993 BAR ER ERX 285 26 # 65 2
5 6984 TH s ERK -4 #wF)l 26 7 14 1
6 7300 =fE E ERX -1 - H 26 7 98 3
7 7295 K& ERK -1 &Kl 27 # 97 4
8
400m SR

L—> Fon— K % Fr =2 A L [[=Civa
1

7295 AV ERX -1 - @z 62 7 79 1

O | NN OO | B~ WDN




800m R &

L—> FunN— K £ AT B SN (=LA
1
2
3
4 7297 INFK SRER ERAK-1-FE 25 32 %49 1
b
6
7
8
1500m 3R BB
L—> FunR— K £ BT B SN [=Liva
1 7297 INFR - RAR ERX-1-BE 54310 # 65 1
2 7303 Nk = EXK- -1 FE DNS
4 xX100mR
L—v F—L% EIB s08% JIEfsz
1
2
3
4
5 EEX BAR = TH # EAME ME | Nk BEFF | 49798 1
6
7
8
7E Bk
FonNn—| K % AT B 1 2 3 4 5 6 08k =LA
4m85 4m02 4m82 4m80 F 4m36 4m86
6983 | kAR M| ERKXK-4-EE 1
+0. 3 -1.8 +0. 8 -1.2 +0. 4 +0. 4
AR
FN— K % AT = 1 2 3 4 5 6 L8k [=Eiva
6992 BO = HREK -2 -%BE O © X O O X 33m48 2
6991 thiE = ERXK -2 #HE DNS




| m

|  ERA -3

6986 55| O © | O | O | © | x |3me| 1 |
P U
Fun— | E % A B 1 2 3 4 5 6 S | B
6982 | M BT | ERA -3 BE | x X O © O O | 32m55 | 2
6987 FTE OB | BRXK-3-E&F O X X X X X 37m37 1
+tEHE 1HB
K % 100mH| ==Bk A% 200m |1 BHEBESA|1 BBIEAL
6978 16. 69 1. 49 9. 81 28. 02
Kig E 0.4 1.2 0388 i
EEA-4- % | 632 610 517 629
6980 DNS
i DNS
EEA - 3 HH
tEHRE 2HE
£ £ EEK | ©U® | 800m |2BREEA| “ES | LB
6978 5.1 34.3 | 2.37.48
Kip (- 40,0 1747 4135 i
EEk-4- %5 | 587 558 602
6980
i M
EEA - 3 -



